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“EBMLER (Noz) H,7: ppm
4H | BH | 63 | TH | 84 | 9H [10H | 11H | 12A | 1A | 2H | 3H |#=vrum
#ps | 0011 |0.012 | 0.014 | 0.013 | 0.009 | 0.011 | 0.013 | 0.018 | 0.021 | 0.019 | 0.015 | 0.015 | 0.014
%{JH 0.013 | 0.013 | 0.016 | 0.016 | 0.010 | 0.013 | 0.015 | 0.019 | 0.023 | 0.020 | 0.017 | 0.017 | 0.016
@& |oo012 |0.012 [0.014 | 0.013 | 0.008 | 0.011 | 0.014 | 0.020 | 0.023 | 0.020 | 0.016 | 0.015 | 0.015
3)%'¥i£jfﬁ 0.012 | 0.012 | 0.015 | 0.014 | 0.009 | 0.012 | 0.014 | 0.019 | 0.022 | 0.020 | 0.016 | 0.016 | 0.015
0.100
0.090 SHIE Rl
0.080
0.070
_0.060
é 0.050
=" 0.040
0.030
0.020
0010 —— 40— o —
0.000 | ' : : ' : ' : ' :
4H 5H 6H 7H 8H 9H 10H 11H 12H 1H 2H 3H
FiEb - IR'E (SPM) B mg/ni
47 [ A | 6H | TH | 84 | 9A | 10H |11 [ 12A | 1A | 2H | 3H |[®=wmum
ﬁﬁ% 0.014 | 0.013 | 0.016 | 0.017 | 0.015 | 0.013 | 0.010 | 0.012 | 0.011 | 0.008 | 0.007 | 0.011 | 0.012
@y | 0.016 | 0.015 | 0.017 | 0.016 | 0.014 | 0.013 | 0.010 | 0.014 | 0.013 | 0.010 | 0.009 | 0.013 | 0.013
%)5 0.017 | 0.015 | 0.016 | 0.016 | 0.015 | 0.013 | 0.011 | 0.015 | 0.015 | 0.012 | 0.010 | 0.014 | 0.014
3R FHE | 0.016 | 0.014 | 0.016 | 0.016 | 0.015 | 0.013 | 0.010 | 0.014 | 0.013 | 0.010 | 0.009 | 0.013 | 0.013
0.100
0.090 SR E SR I fE
0.080
0.070
0,060
%0.050
8 0.040
0.030
0.020
0.010 ’\‘/’w
0.000 : ' : ' ' : ' : ' '

4]

5H

6/

TH

8H

9H

10H4

114

12/

14

2H]

3A




SRS K

=

SRR

T

it

i

e HFEIE

4H 5H 6 7H 8H 9H [10H [ 11H [ 12A | 1H 2H 3H |#ErmimE
W 0.044 | 0.043 | 0.039 | 0.034 | 0.018 | 0.026 | 0.034 | 0.026 | 0.021 | 0.024 | 0.030 | 0.036 | 0.031

SR O 1EE [ E (5~ 200HF) O ¥) M

0.100

0.090

0.080

0.070
0.060

0.050

[ppm]

0.040
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0.030
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0.000 :

451 5H
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7H
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14

2H

34

BAZ: ppm

45 | 5H | 64

TH

8H

9H

104

114

12/

14

2H

3H |=EmE

1Y 0.001 | 0.001 | 0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001 | 0.001

0.014

0.012

0.010

— 0.008

£10.006
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—

0.000
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“EBMLER (Noz) H,7: ppm
4H | BH | 63 | TH | 84 | 9H [10H | 11H | 12A | 1A | 2H | 3H |#=vrum
G 0.015 | 0.013 | 0.015 | 0.012 | 0.011 | 0.009 | 0.013 [ 0.017 | 0.021 | 0.019 [ 0.017 | 0.016 | 0.015
= 0.018 | 0.016 | 0.018 | 0.015 | 0.014 | 0.011 | 0.015 | 0.019 | 0.022 | 0.020 [ 0.018 | 0.018 | 0.017
Nl 0.015 | 0.013 | 0.014 | 0.012 | 0.011 | 0.009 | 0.015 | 0.019 [ 0.023 | 0.021 [ 0.018 | 0.017 | 0.016
3@ )M | 0.016 | 0.014 | 0.016 [ 0.013 | 0.012 | 0.010 | 0.014 | 0.018 | 0.022 | 0.020 | 0.018 | 0.017 | 0.016
0.100
0.090 SHIE Rl
0.080
0.070
__0.060
é 0.050
=" 0.040
0.030
0.020
0010 m
0.000 ' : ' : ' : ' : ' :
4H 5H 6H 7H 84 9H 10H 114 12A 1A 2H 34
F ek IR E (SPM) HAT : mg/nd
4H | BH | 6H | 7TH | 84 | 9H | 10H | 11H | 12H | 1H | 2H | 3H |®=¥rwm
G 0.014 | 0.012 | 0.017 | 0.016 | 0.020 | 0.013 | 0.011 | 0.012 | 0.008 | 0.010 [ 0.010 | 0.013 | 0.013
SN 0.019 | 0.015 | 0.019 | 0.015 | 0.017 | 0.012 | 0.013 [ 0.013 [ 0.009 | 0.011 [ 0.012 | 0.016 | 0.014
Nl 0.018 | 0.014 | 0.018 | 0.014 | 0.017 | 0.013 | 0.014 | 0.015 | 0.011 | 0.013 [ 0.014 | 0.017 | 0.015
3EY)E | 0.017 | 0.014 | 0.018 | 0.015 | 0.018 | 0.013 | 0.013 | 0.013 | 0.009 | 0.011 | 0.012 | 0.015 | 0.014
0.100
0.090 S E SR
0.080
0.070
_0.060
%0.050
8 0.040
0.030
0.020
0.010 W\_’—_‘\kai‘
0.000 : : : : : : : : : :
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H,7: ppm
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0.040

0.043
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R

0.024

0.030

0.028

0.027

0.026

0.020

0.024

0.032

0.035

0.030
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B : ppm

45 | 5H | 64

TH

8H

9H

104

114

12/

14

2H

3H |=EmE

1Y 0.001 | 0.001 | 0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001 | 0.001

0.014
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— 0.008

£10.006
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“EBMLER (Noz) H,7: ppm
4H | BH | 63 | TH | 84 | 9H [10H | 11H | 12A | 1A | 2H | 3H |#=vrum
H 0.011 [ 0.013 | 0.012 | 0.014 | 0.011 | 0.011 | 0.015 | 0.018 [ 0.024 | 0.018 [ 0.017 | 0.015 | 0.015
= 0.016 | 0.016 | 0.016 | 0.017 | 0.013 | 0.016 | 0.018 [ 0.020 | 0.025 | 0.020 [ 0.019 | 0.019 | 0.018
) 0.012 | 0.013 | 0.011 [ 0.013 | 0.010 | 0.011 [ 0.015 | 0.020 [ 0.025 | 0.019 | 0.019 | 0.015 | 0.015
3@ ) | 0.013 | 0.014 | 0.013 [ 0.015 | 0.011 | 0.013 | 0.016 | 0.019 | 0.025 | 0.019 | 0.018 | 0.016 | 0.016
0.100
0.090 SHIE Rl
0.080
0.070
__0.060
é 0.050
=" 0.040
0.030
0.020 W
0.010
0.000 ' : ' : ' : ' : ' :
4H 5H 6H 7H 84 9H 10H 114 12A 1A 2H 34
b IRY'E (SPM) HAT : mg/nd
a7 | 5A | 6 | TH | 84 | 9H | 10H [ 11A |12 | 14 | 2H | 3A |w=vwwm
G 0.014 | 0.015 | 0.012 | 0.014 | 0.015 | 0.013 | 0.011 | 0.010 | 0.011 | 0.009 | 0.009 | 0.013 | 0.012
SN 0.014 | 0.016 | 0.014 | 0.018 | 0.014 | 0.014 | 0.013 | 0.013 [ 0.014 | 0.010 | 0.010 | 0.016 | 0.014
Nl 0.016 | 0.022 | 0.017 | 0.014 | 0.015 | 0.015 | 0.013 | 0.014 [ 0.015 | 0.011 [ 0.011 [ 0.016 | 0.015
3EY)ME | 0.015 | 0.018 | 0.014 | 0.015 | 0.015 | 0.014 | 0.012 | 0.012 | 0.013 | 0.010 | 0.010 | 0.015 | 0.014
0.100
0.090 S E SR
0.080
0.070
_0.060
%0.050
8 0.040
0.030
0.020
0.010 ‘/‘\‘——‘—‘—‘\‘_’/‘\0 —
0.000 : : : : : : : : : :
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H,7: ppm
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0.042

0.042

R
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SR O 1EE [ E (5~ 200HF) O ¥) M

0.100

0.090

0.080

0.070
0.060

0.050
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—RRAEHiE (SOy)

6/]
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114
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14

2H

34

B : ppm

45 | 5H | 64

TH

8H

9H

104

114

12/

14

2H

3H |=EmE

1Y 0.001 | 0.001 | 0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001 | 0.001
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PSS

“EBMLER (Noz) H,7: ppm
4H | BH | 63 | TH | 84 | 9H [10H | 11H | 12A | 1A | 2H | 3H |#=vrum
#ps | o0.012 |0.012 [ 0.013 | 0.013 | 0.011 | 0.010 | 0.013 | 0.019 | 0.023 | 0.021 | 0.017 | 0.014 | 0.015
%{JH 0.014 | 0.014 | 0.017 | 0.015 | 0.014 | 0.013 | 0.018 | 0.023 | 0.027 | 0.026 | 0.024 | 0.020 | 0.019
@ |o0014 | 0013 [0.014 |0.013 | 0.011 | 0.010 | 0.015 | 0.021 | 0.027 | 0.025 | 0.020 | 0.016 | 0.017
3)%qu3f[ﬁ 0.013 | 0.013 | 0.015 | 0.014 | 0.012 | 0.011 | 0.015 | 0.021 | 0.026 | 0.024 | 0.020 | 0.017 | 0.017
0.100
0.090 SHIE Rl
0.080
0.070
_0.060
é 0.050
= 0.040
0.030
0.020 4/‘\‘\%
0.010 W
0.000 ' : ' : ' : ' : ' :
4H 5H 6H 7H 8H 9H 10H 11H 12H 1H 2H 3H
EiERL - IR'E (SPM) B mg/ni
47 [ A | 6H | TH | 84 | 9A | 10H |11 [ 12A | 1A | 2H | 3H |[®=wmum
ﬁﬁ% 0.013 | 0.020 | 0.024 | 0.023 | 0.030 | 0.016 | 0.013 | 0.016 | 0.014 | 0.013 | 0.013 | 0.016 | 0.018
@y | 0.013 | 0.015 | 0.019 | 0.016 | 0.018 | 0.012 | 0.012 | 0.016 | 0.014 | 0.015 | 0.015 | 0.018 | 0.015
%‘)E 0.014 | 0.016 | 0.018 | 0.015 | 0.018 | 0.012 | 0.014 | 0.016 | 0.017 | 0.014 | 0.012 | 0.015 | 0.015
3R EHE | 0.013 | 0.017 | 0.020 | 0.018 | 0.022 | 0.013 | 0.013 | 0.016 | 0.015 | 0.014 | 0.013 | 0.016 | 0.016
0.100
0.090 SR E SR I fE
0.080
0.070
_0.060
%0.050
8 0.040
0.030
0.020 WA
0.010 et
0.000 ' ' ' ' ' ' ' ' ' '
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9H

10H4

114

1284 18 2H
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4H 5H 6H 7H 8H 9H [10H [ 11H [ 12A | 1H 2H 3H |#ErmimE

1 0.045 | 0.041 | 0.037 | 0.021 | 0.034 | 0.025 | 0.028 | 0.023 | 0.018 | 0.021 | 0.031 | 0.038 | 0.030

SR O 1EE [ E (5~ 200HF) O ¥) M

0.100
0.090
0.080
0.070
0.060
0.050

0,040 T
0.030 RN /’\\./‘\‘\
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0'000 Il Il Il Il Il Il Il Il Il Il
454 5H5H 6H 7H 84 9A 10H 11A 1284 1A 28 3H

“ERMLAR R (Soz) BAZ: ppm

[ppm]

45 [ 5H [ 6A | 7TH | 84 | 9H | 10H | 114 [ 12A | 14 | 2H | 3H |#wik

W5 0.001 | 0.001 | 0.001 | 0.001 | 0.002 | 0.001 | 0.000 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001

0.014

0.012

0.010

— 0.008

£10.006

0.004

0.002

T ) 4 4 ) 4 4 ) 4 T

0.000
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“EBMLER (Noz) H,7: ppm
4H | BH | 63 | TH | 84 | 9H [10H | 11H | 12A | 1A | 2H | 3H |#=vrum
#pS | 0013 | 0.015 | 0.012 | 0.014 | 0.013 | 0.012 | 0.015 | 0.019 | 0.024 | 0.021 | 0.020 | 0.016 | 0.016
%{JH 0.018 | 0.019 | 0.016 | 0.018 | 0.015 | 0.016 | 0.017 | 0.022 | 0.025 | 0.023 | 0.022 | 0.019 | 0.019
@ |0015 | 0015 [ 0.012 | 0.014 | 0.013 | 0.013 | 0.015 | 0.021 | 0.025 | 0.022 | 0.022 | 0.018 | 0.017
3)%qu3f[ﬁ 0.015 | 0.016 | 0.013 | 0.015 | 0.014 | 0.014 | 0.016 | 0.021 | 0.025 | 0.022 | 0.021 | 0.018 | 0.017
0.100
0.090 SHIE Rl
0.080
0.070
_0.060
é 0.050
= 0.040
0.030
0.020 —t——
0.010 e
0.000 ' : ' : ' : ' : ' :
4H 5H 6H 7H 8H 9H 10H 11H 12H 1H 2H 3H
AL IR 'E (SPM) A mg/nd
47 [ A | 6H | TH | 84 | 9A | 10H |11 [ 12A | 1A | 2H | 3H |[®=wmum
ﬁﬁ% 0.014 | 0.018 | 0.017 | 0.025 | 0.030 | 0.016 | 0.015 | 0.014 | 0.016 | 0.012 | 0.014 | 0.014 | 0.017
iy | 0.014 | 0.018 | 0.014 | 0.018 | 0.019 | 0.015 | 0.014 | 0.013 | 0.017 | 0.013 | 0.014 | 0.014 | 0.015
%)E 0.015 | 0.019 | 0.015 | 0.021 | 0.021 | 0.016 | 0.016 | 0.016 | 0.020 | 0.015 | 0.016 | 0.016 | 0.017
3R FHE | 0.014 | 0.018 | 0.015 | 0.021 | 0.023 | 0.016 | 0.015 | 0.014 | 0.018 | 0.013 | 0.015 | 0.015 | 0.016
0.100
0.090 SR E SR I fE
0.080
0.070
_0.060
%0.050
8 0.040
0.030
M — K“\\._._’/‘\*’._’
0.010
0.000 ' ' ' ' ' ' ' ' ' '
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4H 5H 6H 7H 8H 9H [10H [ 11H [ 12A | 1H 2H 3H |#ErmimE

1 0.044 | 0.048 | 0.038 | 0.026 | 0.026 | 0.032 | 0.029 | 0.024 | 0.017 | 0.021 | 0.027 | 0.033 | 0.030

SR O 1EE [ E (5~ 200HF) O ¥) M

0.100
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454 5H5H 6H 7H 84 9A 10H 11A 1284 1A 28 3H

“ERMLAR R (Soz) BAZ: ppm

[ppm]

45 [ 5H [ 6A | 7TH | 84 | 9H | 10H | 114 [ 12A | 14 | 2H | 3H |#wik

W5 0.001 | 0.002 | 0.001 | 0.001 | 0.002 | 0.002 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001

0.014
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0.010

— 0.008

£10.006

0.004

0.002 ‘\‘
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